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Acid-Base Titration
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Table 1: Preparation of Standard KHP Solution
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Mass of bottle + KHP . 51232 ¥ azuﬁlg M T 9wy 23 e
Mass of empty bottle 1< 2 S,.(‘{ 9
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Table 2: Standardization of NaOH Against Standard KHP ?
Trial | Upper buret reading | Lower buret reading | Volu —Tf.)og Na,‘?_}f Q.,Q

1 6.00 l'g,OO E>r W,

2 I'KIOO *9,50 A450 gNaDsziL(luq.)M -

2 23,50 yl, 30 43,3 Vo =V naot - Viak
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Table 3: Analysis of Acid Unknnwrl#: 3 Naon "L"'I 23 x10” :
Trial | Upper buret reading | Lower buret reading | Volume of NaOH = 9, AV 4 H :

' | %,00 2, 0 1€, 89

2 | 3,80 29, %0 Ab 00 Vwon= 15 Shwml

3 9,30 AG,QO ¥ = | VME_Q?-OH = Vtank

Volume of acid unknown (aliquot) = o/ g, Ol T o0t | )
Mofunknown'= "y yy - WXV, kuc\ : Mo aVy  0,4086 x 15,80xI07% 0,091
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2. A volume of 17.83 mL Ca(OH); solution is needed to completely neutralize 50.00 m]L e
0f 0.2464 M HNO; solution.
a) Calculate the molarity of the Ca(OH), solution? ("4 (0 #)2 + & HNOy (a (!U03)+ 26,0
M (abr), = m HAJO;

o (1\/] x\lkab ;—t%_\ - q‘:){\ H X))y, MOy

QAWM xA, 23w - (o QUCUM x50 00 mL) .
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AMx13,23) 19 2.0 SaM = |2 s?z 206340 = M= ASIE o FSSH L
b) Calculate the mass of Ca(OH), in the above tied volume of Ca(OH), solution, <2 _J»,&:;,M_-J
M:{/’l"_ = 0, 24ss = "?‘,‘.,__:_;‘_? 2D ™ = § AL p il = 6. 06 LALOMS
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mE TS o= MM Log0pbdlp x T INE . o, (f{ff/g o

1"T(rf(itw)Z = L0,03% 4 3745, 399 & 100M) - 3 Y0 jnga/mme

3. Calculate the pH of: . ) o = - B
@ 1.0x10° M HClsolution  ®10Ce HW &5 . k¢ sme atd. HU — 1 & (8 sy ]
) Y § i

PHUE: _JO(? N s P Ju:a (4,0 xip- 2) = 3,00|

b) 0.020 M Ba(OH), solution = ;‘;/ 2ot + 20 H--(_ o)
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¢ . Log ((©,040) = 4,40. As pr oL non s 1y 00 = PH = W00-4 e 2 Tk s
4. The equivalence point of the titration of a weak bage wi}h a strong acid occurs at pH C/""y—"““*
4.67. Which of the following indicators is the best to detect the end-point of the titration?

Color change )

| Red—yellow | 33-45
Yellow — blue 3.8-54

Yellow - blue

| Colorless - pink 8.3 -10.0
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Indicator
Methyl orange

Bromocresol green
Bromothymol blue
Phenolphthn]cin_




